
Ping wird ausgeführt für 8.8.8.8 mit 32 Bytes Daten:
Antwort von 8.8.8.8: Bytes=32 Zeit=16ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=14ms TTL=58
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Antwort von 8.8.8.8: Bytes=32 Zeit=15ms TTL=58
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Antwort von 8.8.8.8: Bytes=32 Zeit=16ms TTL=58
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Antwort von 8.8.8.8: Bytes=32 Zeit=181ms TTL=58
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Antwort von 8.8.8.8: Bytes=32 Zeit=19ms TTL=58
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Antwort von 8.8.8.8: Bytes=32 Zeit=18ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=13ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=15ms TTL=58
Zeitüberschreitung der Anforderung.
Antwort von 8.8.8.8: Bytes=32 Zeit=16ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=22ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=16ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=13ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=14ms TTL=58
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Antwort von 8.8.8.8: Bytes=32 Zeit=18ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=14ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=12ms TTL=58
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Antwort von 8.8.8.8: Bytes=32 Zeit=17ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=15ms TTL=58
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Antwort von 8.8.8.8: Bytes=32 Zeit=17ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=15ms TTL=58



Antwort von 8.8.8.8: Bytes=32 Zeit=16ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=14ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=17ms TTL=58
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Antwort von 8.8.8.8: Bytes=32 Zeit=19ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=14ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=16ms TTL=58
Zeitüberschreitung der Anforderung.
Zeitüberschreitung der Anforderung.
Antwort von 8.8.8.8: Bytes=32 Zeit=26ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=12ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=15ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=16ms TTL=58
Antwort von 8.8.8.8: Bytes=32 Zeit=12ms TTL=58
Zeitüberschreitung der Anforderung.
Antwort von 8.8.8.8: Bytes=32 Zeit=96ms TTL=58


